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Events

(@) process B has arrived
(@) process B is now running
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Events

(@) process A has arrived

(@) process B has arrived

(@) process C has arrived

(@) process A is now running

(3) process A is going to sleep for 1 ticks
(3) CPU is idle

(4) process A woke up

(4) process A is now running

(7) process A terminated

(7) process B is now running

(9) process B is going to sleep for 2 ticks
(9) CPU is idle

(10) CPU is idle

(11) process B woke up

(11) process B is now running

(12) process B terminated

(12) process C is now running

(14) process C is going to sleep for 2 ticks
(14) CPU is idle

(15) CPU is idle

(16) process C woke up

(16) process C is now running

(1) nraracc  tarminated
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Process patterns

m Arrival times indicate the insertion
of that process into the ready queue.

m The execution of each of the
processes, if they were the only ones
in the system.
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Round Robin (RR) -5

m Maximum CPU allocation before the
timer interrupt preempts the
process.
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Shortest Job First (SJF)

m Assume that the process execution
pattern is known by the scheduler

" Note that, this is not possible in real life.
The scheduler can only gather statistics
from prior execution behavior of the
process and uses that.
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Shortest Remaining Time
First (SRTF)

m Assume that the process execution
pattern is known by the scheduler

" Note that, this is not possible in real life.
The scheduler can only gather statistics
from prior execution behavior of the
process and uses that.
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